Managerial Economics
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* The catalog retailer pays a wholesale price of $25 per pair, has a regular price of $75 per pair, and
the arc elasticity of demand Ep = -1.5 is the best available estimate of the current point price

elasticity of demand.

» This typical $50 profit margin implies a standard mark-up on price:

=(P-=MC)/P
=($75-9$25)/ $75
= 0.667 or 66.7%

Or if we use another formula:
=-1/(-1.5)
=0.667 or 66.7%

* Suppose the catalog retailer offered a discounted “preseason” price of $70 and noted a moderate
increase in weekly sales from 275 to 305 pairs per weeks. Using the arc price elasticity formula to
evaluate the effects of this $5 discount from regular price of $75, the implied arc elasticity of

demand on Birkenstock sandals is:

Ep=(Q2-0Q1): (P2 -P1)
(Q2+Q1) (P2+P1)
=(305-275): (570 - S75)
(305 + 275) ($70 + $75)
=-1.5

Optimal Mark up on Cost = -1
(-1.5+1)
=2 or 200%



